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Instructions for Candidates

1. Write your Roll No. on the top immediately on rcceip‘t-'
of this question paper. o :

2. Attempt all questions by selecting two parts from each

question.
OR

Attempt any _________ questions. {fill accordingly}
OR

First question is compulsory and attempts any other
questions from remaining.

3. Part of the questions to be attempted together.

P.T.O.
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4.

If question papers have Part — A/B/C (write
appropriate direction).

Please mention marks distribution against each
question.

OR
All questions carry equal marks.

OR

Each question carries —_ marks.

Use of Calculator not allowed.
OR

Use of Simple Calculator allowed.
OR

Use Of non-programmable Scientific Calculator
allowed.

OR
Not applicable.
(Please mention whichever is applicable)
Note:— All fields as mentioned in the Performa are

essential.

Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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6.

Amartya Sen — “The role of basic education in the
process of development and social progress is very

wide and critically important.” Discuss. (15)

A AT - “Fawm SR amnforen s o wfe ¥ qfwrd
foren < sifere wga = s TR T A wEeal 217 ==
Ead

Comment on India’s Demographic Transition
experience. Does India sufficiently exploit the

untapped demographic dividend? (7.5+7.5)

R & SHERedE uiede sy W ot @ @
WA Mg SFEIRAST AN T TAT e @ @
37

Examine India’s Jobless Growth experience of
second half of 2000s. Briefly comment on the
Labour market changes witnessed in the last two

decades. (7.5+7.5)

P.T.O.
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4.

Comment on the intersectionality of Poverty,
Inequality and Growth. Can we say that an
egalitarian distribution of growth is important
from the point of view of tackling poverty and

inequality? (7.5+7.5)

TR, FeEEar 3R faewm # Fadduar w P e
w1 BH wE dgd B fr fAewm @ gwaE faew
TR I smEEE @ Faed & gfewion @ weeayt
7

Growth trajectories of India and China stand
differently. What were the trigger points behind their

growth experiences? Elucidate. (15)

WRE 3R 09 & w99 F- e B IAd e &
Fwal & M2 R fig w9 W w0
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WA DHeATgele & ITANT Fi JAfeT |
q1

IR - AR A Seideie? & I9ENT @ Al |
o

] S |

(Far St 9t @] B IEeT Sooid )

Hie: - W | Ifeafad @it wies smawaeE # |

T9 U9 - I &1 IR Aot a1 B o v o ® A, A
T IR T AEAH U B B AR |

“Second Five Year Plan was made under the purview
of Mahalanobis Model “ Discuss this statement with
emphasis on achievements and shortcomings of this

model. (15)

‘gt waadta AT AEEEIEE HEe @ erR ¥ S T R
T4 Higd & IJTAfEl AR FREE W AR 39§ 39w
W oFE &
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2.

Dreze and Sen- “While India has much to learn from
international experiences, it has a great deal to learn
from diversity of experience within the country.”

Discuss. (15)

3T IR AT “BTClfR WRE ol AT A | g
e 2, dfer 3w @ MR I i fafauer A <f =g
FHT G 217 T Wi

India has recorded an impressive performance on
economic growth front especially in post liberalisation
phase (1991 onwards) but still lot to be done on
poverty alleviation front. What is the Multidimensional

Poverty Index? (7.5%7.5)

Rd A fagw &7 @ Ja@eor @ @ @ W (1991 @ =E)
# anfder faemm & A ox weEel gesie @ fan B, Sife
T INEA ® A W T T g5 wo fEm S aeE
Bl Ol wX| TEIEN TS Guhn T B 7



